Figure 2. Synthesis of results: NW+CCVR versus CCVR alone in Coronary Artery Disease

Exercise capacity (METs)

NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Kocur 2009 21.3 252 40 7 335 20 66.6% 0.50 [-0.04, 1.05] *4.7
Wilk 2005 30.3 335 20 141 3641 10 33.4% 0.46 [-0.31, 1.23] B
Total (95% CI) 60 30 100.0% 0.49 [0.04, 0.93] ‘
Heterogeneity: Tau? = 0.00; Chi? = 0.01, df = 1 (P = 0.93); I? = 0% _11 _01.5 0 0ﬁ5 11

Test for overall effect: Z =2.15 (P = 0.03)

Favours [CCVR] Favours [NW+CCVR]

OMWT

NW+CCVR CCVR

Study or Subgroup Mean SD Total Mean

SD Total Weight

Std. Mean Difference
IV, Random, 95% CI

Std. Mean Difference
IV, Random, 95% CI

Kocur 2009 143 17.2 40 12.8 19.2 20 66.8% 0.08 [-0.45, 0.62]
Wilk 2005 223 21.73 20 17.8 215 10 33.2% 0.20 [-0.56, 0.96]
Total (95% CI) 60 30 100.0% 0.12 [-0.32, 0.56]

Heterogeneity: Tau? = 0.00; Chi? = 0.06, df = 1 (P = 0.80); I> = 0%

Test for overall effect: Z = 0.55 (P = 0.58)
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ACT
NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Kocur 2009 16.1 29.7 40 124 335 20 67.4% 0.12 [-0.42, 0.66] —
Wilk 2005 2201 271 20 6.9 279 10 326% 0.54 [-0.24, 1.31] —l—
Total (95% Cl) 60 30 100.0% 0.25 [-0.19, 0.70] ’
Heterogeneity: Tau? = 0.00; Chiz = 0.76, df = 1 (P = 0.38); 12= 0% 1 1 i 1 |
-1 0.5 0 0.5 1

Test for overall effect: Z = 1.13 (P = 0.26)
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CSST
NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Kocur 2009 21.8 325 40 184 29.6 20 66.8% 0.11 [-0.43, 0.64] .
Wilk 2005 16.8 33.4 20 23.7 329 10 33.2% -0.20 [-0.96, 0.56] i
Total (95% Cl) 60 30 100.0% 0.00 [-0.44, 0.44] ’
Heterogeneity: Tau? = 0.00; Chi? = 0.42, df = 1 (P = 0.52); I = 0% 1 f i f f
-1 -0.5 0 0.5 1

Test for overall effect: Z = 0.02 (P = 0.99)
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BST




NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Kocur 2009 25 702 40 157 1342 20 66.8% 0.10 [-0.44, 0.63] B
Wilk 2005 217.2 3339 20 150 143 10 33.2% 0.23 [-0.53, 0.99] o
Total (95% CI) 60 30 100.0% 0.14 [-0.30, 0.58] ’
Heterogeneity: Tau? = 0.00; Chi? = 0.08, df = 1 (P = 0.78); I = 0% 11 05 5 0 015 '}I
Test for overall effect: Z = 0.62 (P = 0.53) Favours [CCVR] Favours [NW+CCVR]

CSRT
NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Kocur 2009 2,150 3,113.6 40 65 536.88 20 58.2% 0.80 [0.24, 1.36] —u—
Wilk 2005 1385 2129 20 1104 1053 10 41.8% 0.15[-0.61, 0.91] =
Total (95% CI) 60 30 100.0% 0.53 [-0.10, 1.16] <‘
Heterogeneity: Tau? = 0.10; Chiz = 1.84, df = 1 (P = 0.17); I = 46% 11 01 5 5 O%5 11
Test for overall effect: Z = 1.64 (P = 0.10) Favours [CCVR] Favours [NW+CCVR]

UGT
NW+CCVR CCVR Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight [V, Random, 95% CI IV, Random, 95% CI
Kocur 2009 114 16.5 40 2 267 20 67.7% 0.45[-0.09, 1.00] *4.7
Wilk 2005 179 16.4 20 2 265 10 32.3% 0.77 [-0.02, 1.55] =
Total (95% Cl) 60 30 100.0% 0.55[0.11, 1.00] ‘
Heterogeneity: Tau? = 0.00; Chiz = 0.41, df = 1 (P = 0.52); 12 = 0% 1 1 1 1
-1 -0.5 0 0.5 1

Test for overall effect: Z=2.43 (P = 0.01)

Favours [CCVR] Favours [NW+CCVR]

Abbreviations. MET: Metabolic Equivalent, 6o MWT: Six-Minute Walking Test, ACT: Arm Curl Test, CSST: Chair Sit to
Stand Test, BST: Back Scratch Test, CSRT: Chair Sit and Reach Test, UGT: Up and Go Test, NW: Nordic Walking,
CCVR: Conventional Cardiovascular Rehabilitation, CI: Confidence Interval.



